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¥4 +1=0

= x*+it=n [ i? = —1]

= {X+."][X—."]=EI [az—bz=[a+b}[a—b]]

= X =4,-1
Q2
9x“+4=0
= () -(2) -0 [ 42 = -1]
= [3x+2i)[3x -2i)=0
= Iw +2i =10 or 3x -2/ =10
-2 . 2.
= W= or x =]
3 3
-2. 2
XNo= ), =i
3
Q3
¥+ 2% +5=0

Mow, completing the squares, we get

[ +1)2+4=o
= {x +1)2—2J2=0
— {x +1+2a‘)[x +1—2.")=D

= {x +1+2:‘)=r:u ar [x +1-2;‘)=0

Lox=-1-2, -1+2 @
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4x?_12x+25=0
Mow, completing the squares, we get
2
[2¢ =3 +16-0

= [ -3°-42-0
= [2¢—3+4)[2¢ -3-4)-0

= pr3+4)=o ar Zx - 3-4)=0
3 s 19 o
2 s epdlh e
3 & >
Q5

%+ x+1=0

Mow, completing the squares, we get

R
- [X +l+£,l]=l] o [X +E—£."]=D
2 2 R
I I T B
eeteh 2T 4
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4x®+1=10

= {2}:’]2 iy [ s —1]

= [2x +i)[2x-i)=10
= either 2+ j =0 or Zx-/=10
) ]
] A= — ar X:‘I_
2 2
-
X=—_|—
2 2
Q7

¥ —4x +7=10
We will apply discriminant rule,

- ‘5215‘5 ............ (2)
where 0 = b%-dac =[-4)" -4.1.7=-12
fram [a)
[-4) £ 4-12
-
_4x2fE
-z
= 2+ 3 Q
x =243, 2 f3 @bo C’;\\Q
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Q8

x242x+2=10
We will apply discriminant rule,

-bx /D
w22l )
23
where D = b% - dac
=2%_4.17
=4-8
=-4
fram (A]
-z+.f4
No=
2
2t
2
=-1+J
N=-14+4, -1-7

Q9

Ex? By +2=0

We will apply discriminant rule,

.o bt

I (4)

where 0 = 5% - 43c

- {-8)" - 4.52
36 - 40
-4

fram [4)
i -{-6)x 4

x 2.5 0 ‘Q
. O &



http://cbs.wondershare.com/go.php?pid=5239&m=db

https://millionstar.godaddysites.com/

Q10

21x" + 9x+1=0

Comparing the given equation with the general form
ax’ +bx+c=0wegea=21b=9c=1
Substituting a and b in,

—b+ bt —dac —b—ajbt —dac
&€= and 8=
2et 2et
-S4 4j81- 24 —9—qf81- 84
e ————— nd Bies
42 42
Sl o
=g=—— and f=———
42 42
—9+N§ _9_:@
=———— andfas———
42 42
The roots arex:f i£
42 42
Q11

¥ _x+1=0

e will apply discriminant rule,

where 0 =5% - dac
= {-1)° -4.11
—1-4
-3

from {A)
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wWe will apply discriminant rule,

)

23

No=

where D = 5% - 4ac

=1°-4,1.1
=1-4
=-3
fram {A}
X=-11J-_3
2
]
2
¥=_"+ I, _—1—£
2z 2z
Q13

17%° -8By +1=0

we will apply discriminant
LohEd
23

where D = 8% - 4ac

=[-8 - 4171
= 64 - 68
= -4
from {A)
~{-8)+ -4
No=_- < @
2,17
EEY
T 24
_4i.l'
T
I A A
T17 17 17 17

o fa)

rule,

Wondershare
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Q14

27x%-10x+1=0

we will apply discriminant rule,

‘o b+ o

e (4)

where O = b® - 4ac
- (-10)% - 4.27.1
- 100 - 108
- -8

from &)

. S LI ERa)

54

C10+2.20
54

5.2

27

X=i+£ 2 ‘Jz_.l'

27 27’ 27 27

Qi15

17¢%2+ 280 +12=0

Wi will apply discriminant rule,

where D =b* - 4ac
= (28)* - 417.12
- 784-816

=32 @
o 14 »
e }= -28211,,;-3_2 %Qb (,)\\
284 Zi & Q
- % 06’\(00%_
,_-lax2d3 . &
17 ‘\\\O efb
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Qle

2ivZ 28y +10=0

We will apply discriminant rule,

Xz—b:mja—

R (3

where D =67 - 4ac
= (-28)% - 4.21. 10

= 764 - 540
= -5f
from [a)
—{—ZB}i«ﬂ'—Sﬁ
rs o1
RN
- 42
X:Eiﬁj
37 21
Q17

Bx%-Ox+3=0

We will apply discriminant rule,

_ bt D e [ 8)

2a

M

where D = 5% - 4ac
= {-9)" - 4.8.3
-81-96
=-1%

from {A]
—b+ D @
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Q18

13475 +1=0

We will apply discriminant rule,

woBED s

23

where D = b® - 4ac
=72-4,13.1
=49-52
=-3

Thus, from {a)

_ 743
2.13
I ETE]
26
Thus
X:iiﬁ'
26 26
Q19
axZix+1=0

we will apply discriminant rule,

_bEyD e (B

23

M

where 0 = b® - 4ac
=17-4.21
=1-8
=-7

Thus, fram {ﬂ] 60 ‘\O

X=—li-\jf—_? @
2.2
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Q20
ﬁxz—ﬁx+3 3 =0

wWe will apply discriminant rule,

b+ D PR 3

23

o=

where D = &% - 4ac

BV - 4B

=2-3A
=-34
from {&)
[7)
X=T
_ ﬁi@i
= 3
Thus
o ﬁiJS‘_CH'
= o
Q21

ﬁx2+x+ 2 =0

We will apply discriminant rule,

x=_bi1‘5.

2 ()

where D = b® - 4ac

=17 - 4422

=1-8
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Q22
x2+x+i=D
2
Wie will apply discriminant rule,
woTh2D
23

whare 0 = h?% - 4ac

1
=1 o411
4=
=1- 22
fram (&)
~1% -{2@-1]
N =
2
_-lxyafa -
2
Thus,
s 2.2 -1
z2
Q23
#+2+1=0 = ﬁx2+x+gr_=tl
2
We will apply discriminant rule,
—bt D
= E N 2
= (#)
D =6° - 4ac
17— 4.f2aE
=1-8
= -7

. X;—lzzgﬁ' ‘ 006 &Q
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Q24
NExZ 4 x +4f5 =10

We will apply discriminant rule,

wohED (4)
2z
where & = b2 - d4ar
=12 - 4,55
=1-20
=-19
from [4)
_ -1+-/-19
2.5
_-1%./19i
245
Thus,
‘o —1+ 1oy
245
Q25

x¥yx-2=0
we will apply discriminant rule,

o bEAD (4)

2

where O = b - 4ac
- -4 (). (2)
=1-8
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Q26

We will apply discriminate rule,
-b=D

2a
Where D= 5" —4ac

~(2)'-4(0)( 3}

=4-6
==2
From (A)

x_—(—z)iJ—_Z
21
_2zif2

Il
—
I+

dj..,_N
)

=
I
—
I+

Sl

Q27

We will apply discriminate rule,
- -z n
2a

Where D= 5" —4ac
-4 =405

=16—-80
=—064
From (A)

-

T &

=4:i$ 60 ‘\O
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Q1(i)

%2 +10/x -21=10

= 2+ 10w +21° =0 [ 2= -1]
= 247 +3ik +21% =0
= xfx +7)+30i{x +7) =0
= [« +3i){x+7])=0
Lox o==30 -7
Qa(ii)

x2+[1—2.f]x—2.f= 1]

= ¥¥4w-2i-2i=0
sfx+1)-2ifx+1)=0
= {x-2i){x+1)=0

I

= x=21I, -1
Qa(iii)
e —‘2ﬁ+3.l')x +6J3_.f= 0

x% 23 - i+ 643 = 0

= X{X—Eﬁ)—EJ{X—Eﬁ)=D

= [x—3.l'][x—2«,.5}=lj
= X =3, EJE_.
Ql(iv)

Ex%-17ix -12 =0 Q)

fxZ - 17ix +12i% = 0 [ i2 = -1] @

ExZ - Qi —Bix +12/% = 0 %
Ix [Ex - 3."] -4 [Ex - 3."] =0 é Q

[3x - 4i)[2x-3) =10 %
4 3

N

Il
.
40
S
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Q2(i)
P —(3@+2J')x+6@ =0

= x2 3oy - 2in + 20 = D
= X(X—B\E)—E."(x—Sﬁ)=D
= [x—Ea’}l(x—EﬂE)=D

= x=2 or 32
Q2(ii)
X2—|{5—a']x+|{18+a':]=D

¥¥ _Ew_jxv+18+i=0

= - f3-d)x-{2+3)x +{1B+0) =0
= xfx-(3-4))-(2+3])fx-(3-4)) =0
= [x -[2+ 3."]:] [X -{a- 4."]:] =0

= x=2+3 or 3-4

Q2(iii)

[2+."]x2—[5—."]X+2[1—a']= 0

= (2+i)x®-2¢-[3-Yx+2{1-i)=0
= X[2+."}X—2]—[:1—.":][{2+.":]X—2:|=EI

= [x—[l—.l']][[zﬂ']x—z]:D

either [x - {1—!]]= 0 ar [{2+."]X— 2] =0

. 2
= ¥=1-y or ¥ =—
241

2=

= ¥=1-J or ¥ = —"— " _ 0 ‘O
E+iE-1 N\
O &

4 -2

DrX=4+1=%_§’. %
RTN
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Q2(iv)

xz—[2+."]x—[1—?."]=lj

= xf-f2+i)x-f1-7)=0
= xz—[B—."]x+[1—E."]x—[:1—?."}=EI
= X{X—[:3—."”+[:1—2.":]{X—[:3—."]}=El
= [X + [1— 2!]:”:x - [3 —J']] =0
= xo=-1+27, 31

Q2(v)

% -4y -4 =10

ixf e diZx+4ii =0 [ i = —1]

X%+ 4ix + 4% =10

-
—_
= ¥E 2 + 20w + 4% =0
= xfx+2i)+2ifx+2i)=0
= [ +2i) [ +20)

Xo==21, =2

Q2(vi)

24w —4=0

= Crdx+4?=0 [ i?=-1]

= X442 +2 + 4% =0

= x{x+2)+2i(x+21)=0 @
= (x+2)(x+2)=0 bo C’;\\O
= @ K@

¥=-2, -2 %
KON
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Q2(vii)

222 +15ix—i=0
Comparing the given equation with the general form
ar’ +hx+c=0,wegeta=2b=15i,c=—i

Substituting aand b in.

—b++b? —4ac —b—Ib? —dac
¢=——— ad f=—m8———
2a 2a
- NSt IS b mdﬂ_—\/l_Sz—\/—15+8i
4 1

Let -15+8i =q +bi

=-15 +8z'=(a+bz’)2

= -15+8i =@’ —b* +2abi
=a’-b*=-15 and 2abi = 8i

Now (a* +52) =(a?-b*) +4a%?
= (a+5*) =(-15)*+64 = 289

=a*+b’ =17

Solving @° =5 = -15 and @* + 5% =17, we get
a*=land ¥’ =16
—a=tlandb=14

=g=xlandb=14
—a=Lb=4ora=-Lb=-4
—15+8 =1+4i.-1-4i

When+-15+8i =1+4
Lo VISi+1+di L+(4-45)i
4 4

—J15i— 4i —l—.4+xf1?]!'
and g = ! 4{1+4): (4 [ 60 c)\\o

Wheny—15+8i =1 - 4i &
a=—J1?f—1—4;=-1-[4+J1?)i \(& Q

4 4 %
—v’ﬁi—i—t—4f):1+(4—sf1?]f OQ &Q

r N ®’0

and g =
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Q2(viii)

x'—x+(1+i)=0
x'=x+(1+1)=0
x'—ix—(1-i)x+i(1-i)=0
(x=1)(x=(1-1))=0

X=il=i

Q2(ix)
We will apply discriminate rule on ax’ + bx+c=0,
. ~b=~b —dac
2a
Now,
ixX —x+12i=0
I ) 2 S A O[22
2i
l:-Jl+48
Y
1=./49
Y
1+7
T
- 8§ -6
2721
43
i
=—4i, 3i
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Q2(x)

We will apply discriminate rule on ax’ + bx+c=0,
-b=~b —4ac
2a

X

Now,

;‘-(3J2'-2i)x-ﬁi-o
(342 - 21) [ (342 -21) | -4(1)(~2)
21)

(32 -2) (32 -2 <4y

2
3&—2i+4-J§f

2 2
Q2(xi)
X —(\5+i)x+\5i- 0
Y =J2x-ix+Pi=0
x(x—«fz_)—i(x—\ﬁ)- 0
(x=1){x-)-0
x=i,2

Q2(xii)

2% —(3+7i)x+(9i-3)=0 60 ‘\O
2 —3x—Tix+(9i-3)=0 74)

(2x-3-1)(x-31)=0 &(0
(x—?)(x— 3i)=0 %\® %_Q
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